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QUESTION 1

Who does the work to make sure Product Backlog items conform to the Definition of Done? (Choose the best answer.)
A. The Quality Assurance Team.

B. The Scrum Master.

C. The Developers

D. The Product Owner.

E. The Scrum Team.

Correct Answer: C

QUESTION 2

A Scrum Master is introducing Scrum to a new Development Team. The Development Team has decided that a Sprint
Retrospective is unnecessary. What action should the Scrum Master take?

A. Call a meeting between the Development Team and senior management.
B. Comply with the decision of the self-organizing team.

C. Consult with the Product Owner to see how he/she feels about the situation.
D. Begin facilitating productive and useful Sprint Retrospectives.

Correct Answer: D

QUESTION 3

If two Scrum Teams are added to the development of a product that previously had only one Scrum Team, what will be
the immediate impact on the productivity of the original Scrum Team? (Choose the best answer.)

A. Its productivity is likely to decrease.

B. Its productivity is likely to stay the same.
C. Its productivity is likely to increase.

D. We do not know until a Sprint has run.

Correct Answer: A

QUESTION 4

At the seventh Sprint Review, the stakeholders are disappointed and angry. They have determined that the product or

PSM-I VCE Dumps | PSM-I Study Guide | PSM-I Braindumps 2/3


https://www.pass4itsure.com/psm-i.html
https://www.pass4itsure.com/psm-i.html
https://www.pass4itsure.com/psm-i.html

. VCE & PDF https://www.pass4itsure.com/psm-i.htmi
a 2024 Latest passditsure PSM-I PDF and VCE dumps Download

— PassditSure.com

system being built will not meet their needs and will cost more than they are willing to spend. What factors likely led to
this? (Choose two.)

A. The Project Management Office (PMO) has not been engaged adequately.

B. The Product Owner has not been keeping the stakeholders aware of the progress of the project.
C. The stakeholders haven\\'t been using the Sprint Reviews to inspect and evaluate progress.

D. The stakeholders were not allowed to enter the development area.

Correct Answer: BC

QUESTION 5

When does the second Sprint start?

A. Once the architectural changes for the second Sprint have been approved by the senior architect.
B. After the Product Backlog for the second Sprint has been selected.

C. Immediately after the first Sprint.

D. After the customer completes acceptance testing of the first Sprint.

Correct Answer: C

Reference: https://www.scrum.org/forum/scrum-forum/37292/why-second-sprint-start-immediately-after-first-one
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